Name: Class: Date: ID: A
Pre-Calculus 11 Practice Final Exam January 2020

" Multiple Choice - _
Identify the choice that best completes the statement or answers the question. Clearly write your answer on the answer
" page provided. You may write in this booklet but only the answer page will be marked.

1. What is the quadratic function in vertex form for the parabola shown below?
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A flx) =125(x+4)* -3 C f(;c)=—1.25(x+3)2+4
B f(x)=-125(x-3)>-3 D f(x)=125(x+3)> -4

2. What is the axis of symmetry of f{x) = —3(x—7)> -=9?



Name:

3. What are the domain and range of y = —5(x + 3)* —49

A Domain: {x <-5, x € R} | C Domain: {x € R}

Range: {y € R} Range: {y >3,y € R}
B Domain: {x € R} D Domain: {x >3,x € R}
Range: {y <-4,y € R} Range: {y € R}

4. What is the equation of the quadratic function y = x> —20x + 15 in vertex form?

A y=(x-10)>-115 C y=@x+10°>-115
B y=(x-10)"-85 D y=(x+10)>-85

5. Which quadratic function in standard form represents y = —5(x +3)* + 432

A y=-5x*-30x-1 C y=-5"+30x-2
B y=-5x"—15x-1 D y=-5x"-30x-2

6. What are the coordinates of the vertex of the quadratic function y = —4x* +8x — 87 -

A (1,-4) C (4,1
B (8,—4) D (8-8)

7. Factor x* + 12x — 160 completely.

A (x-20)(x-8) C (x-20)(x+8)
B (x+20)(x-8) D (x+20)(x+8)
8. Factor 0.49x* —3* completely.

A (0.7x -y)(0.7x —y) ' C 07x-y

B (0.7x-»)(0.7x +y) D (0.7x)(0.7x) - )(»)
9. Factor 6(x” —4x +4) + (x* — 4x + 4) — 1 completely.

A (3% —12x+12)(2x* - 8x+8) C (Bx-1(2x+1)

B (3x®—12x+11)(2x" —8x+9) D (" —dx+7)(x* —4x+2)

10. Solve (x—8)(x—-9) =0.

A x=8andx=-9 C x=-8andx=9
B x=-8andx=-9 D x=8andx=9

11. Determine the roots of the quadratic equation 9x” + 135x = 144.

A x=landx=-16 ‘ C x=9%9andx=-144
B x=-landx=16 D x=—%and_x=%
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When Alex rides his dirt bike off a ramp, his path can be modelled by h(d) = —3.9d4* +19.84 +9.2, where dis -

the horizontal distance from the ramp and 4 is the height, both in metres. How far away from the ramp does
he land, to the nearest tenth of a metre?

A 04m C 55m
B 28m D Ilm

Express A/ 625v6n° in simplified form.

- A 10v2 R 10) c 5v’nt@3)
B 25v2n>(A/5) D »?n’@Af5)
What does the expression —7»\/3 +5~/28 —(4~/ 12 + 8'\/7 ) simplify to?
A 131247 C 1W3-247
B -1573+247 D -1543-247
Express (a/ 19 — NG )~/ ].Q;j—w»\[_g ) in simplest form.
A 2J19-194/5 C 14
B 2/19-24/5 D 14
What are the restrictions on x if the solution to the equation —4 — A/ —8 —x = 9 involves real numbers?
A x2>169 C x<13
B x>9 D x<-8

Solve A/ 8x +4 =17
A x 3
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Solve x— 9+/x +18=0.
A x=4 C x=36orx=9

B x=%: D x=9orx=-36
The non-permissible value(s) for the rational expressions o] is (are)
A x=24/3 C xzl,x=-1

B x=1 D x=#1

x2—3x—4;2xz+11x+9ins. lest form
x2-5x+4 " x2+x-2 fplest form.

Express the quotient

x-1)(x+2) C 2x+9

(x+1)(2x+9) x+2

x+2 (x+1)(2x+9)
B o9 D GT)Ge2)
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—Txy+9 —4+3xy

“When fully simplified, ignoring restrictions on the variable, X2y? + 3%y is equal to
—1lxy+12 Ay +5
~3x2y? —3x3y3
3x2y? +17xy -27 3x2y2 + 17xy — 27
—3x2y? —3x3y3
What is the exact solution to the equation ix—+14 —-—z
19
A -1 Cc - B
3 13
R NT; D
Solve the rational Vequation x__ _T-x + 2 .
x+1  x*_6x-7 x-7
A x=-12and!l C x=12
B x=7and-1 D x=-12
Solve x*+2x-24 xX*+Tx+6
VT T6-x  ~ x+5
A x=22 C x=16andx=5and x=6
B x=-9andx=2 D x=9andx=-2
Bvaluate |-9+2*| - 4= (=5)| + 76| + |-3].
A -6 C 4
B 6 D 0
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26. The graph of y =v’(x-|.-2)2 —2| is

A 'y/

n o

27. Solve |x* —4x— 8| =3x + 10.
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28. Which graph represents the reciprocal of the linear function y = 9x —4?
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____29. Which graph represents the reciprocal of y = (x +2)* —2?
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30. The equation of the vertical asymptote for the reciprocal of y = Zx -5is

2
A x=% C x=—-17—0
B x=%' D x=—%
____ 31. The solution to -7(3 - b) + 6(-6 - 8b) <25 is
A b<2 C b>2
B b<2 D b>-2
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Which graph represents the solution to the inequality 2x* —9x + 6 > 0?

A C
e —|—|— Qi) —————t—t—o *o—+—>
-5 4 3 2 -1 0 1 2 3 4 5 S5 4 3 2 -1 0 1 2 3 4 5
B D
&l 1 I ] Il e & (- ! S & n : : n ] T, ¥ N
< T T T T 1 Y T T ) — " " " " —x T L O 7
S5 4 3 2 -1 0 1 2 3 4 5 - 4 3 -2 -1 0 1 2 3 4 5

The solution set to the inequality —2x* +6x—4 > 0 is

A {-2<x<-l,xeR} C {1l<x<2,xeR}

B {x<Lx>2,xeR} D {x<-2,x>-1L,xeR}

What are the three other angles in standard position that have a reference angle of 31°?
"A 149°,211°,329° C 62°,93°,124°

B 121°,211°,301° D 76° 121°,211°

The point (44, —33) is on the terminal arm of ZA. Which is the set of exact primary trigonometric ratios for
the angle? :

A sinA=—%,cosA=%,tanA=—%
B sinA=—§,cosA=%,tanA=—%
C sinAz-%,cosA:%,tanA:—-%
D sinA=%, cosA=—%,tanA =—i31

What is the exact value for tan (120°)?

A 3 c 1
]
B._-—_
J3
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38.

Which strategy would be best to solve for x in the triangle shown?

X

23°

49 cm

Diagram not drawn fo scale.

A primary trigonometric ratios C cosine law
B sine law D none of the above

Determine the length of x, to the nearest tenth of a centimetre.

28 cm

Diagram not drawn to scale.

A 4638 C 663
B 359 D 16.7

ID:
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39. What is the length of x, to the nearest tenth of a metre?

40.

20m 17m

26°

Diagram not drawn to scale.

A 105m C 88m
B 198m D 262m

Patrick invested $4000 for 9 years. At the investment’s maturity, its value was $5476. What was the
annual simple interest rate?

A 3.8%
B 4.1%
C 62%
D 53%

42.

A $20389.98; $4389.98
B $19 848.02; $3848.02
C $20398.53; $4398.53
D $20956.50; $4956.50

Jemima makes $1010.00 worth of purchases on her credit card. If the credit card charges 21% simple interest,
how much interest will she accumulate on the unpaid balance over 45 days?

A $22.59 C $31.75
B $26.15 D §93.15
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